

$$a_1 + a_2 = 11 \rightarrow \frac{a_1 + a_2}{a_1 + a_2} = \frac{11}{11} \rightarrow \frac{a_1 + a_2}{a_1 + a_2} = \frac{11}{11} \rightarrow \frac{a_1 + a_2}{a_1 + a_2} = \frac{11}{11}$$

$$q^2 - 1 = 1 \rightarrow q^2 = 2 \rightarrow q = \sqrt{2}$$

$$a_1 + a_2 = 11 \rightarrow a_1 + a_2 = 11 \rightarrow a_1 + a_2 = 11$$

$$a_1 + a_2 = 11 \rightarrow a_1 + a_2 = 11 \rightarrow a_1 + a_2 = 11$$

$$q^2 - 1 = 1 \rightarrow q^2 = 2 \rightarrow q = \sqrt{2}$$

$$a_1 + a_2 = 11 \rightarrow a_1 + a_2 = 11 \rightarrow a_1 + a_2 = 11$$

$$a_1 + a_2 = 11 \rightarrow a_1 + a_2 = 11 \rightarrow a_1 + a_2 = 11$$

$$a_1 + a_2 = 11 \rightarrow a_1 + a_2 = 11 \rightarrow a_1 + a_2 = 11$$

$$a_1 + a_2 = 11 \rightarrow a_1 + a_2 = 11 \rightarrow a_1 + a_2 = 11$$

$$a_1 + a_2 = 11 \rightarrow a_1 + a_2 = 11 \rightarrow a_1 + a_2 = 11$$

$$a_1 + a_2 = 11 \rightarrow a_1 + a_2 = 11 \rightarrow a_1 + a_2 = 11$$

$$a_1 + a_2 = 11 \rightarrow a_1 + a_2 = 11 \rightarrow a_1 + a_2 = 11$$

$$a_1 + a_2 = 11 \rightarrow a_1 + a_2 = 11 \rightarrow a_1 + a_2 = 11$$

$$a_1 + a_2 = 11 \rightarrow a_1 + a_2 = 11 \rightarrow a_1 + a_2 = 11$$

$$a_1 + a_2 = 11 \rightarrow a_1 + a_2 = 11 \rightarrow a_1 + a_2 = 11$$

$$a_1 + a_2 = 11 \rightarrow a_1 + a_2 = 11 \rightarrow a_1 + a_2 = 11$$

$$a_1 + a_2 = 11 \rightarrow a_1 + a_2 = 11 \rightarrow a_1 + a_2 = 11$$

$$a_1 + a_2 = 11 \rightarrow a_1 + a_2 = 11 \rightarrow a_1 + a_2 = 11$$

$$a_1 + a_2 = 11 \rightarrow a_1 + a_2 = 11 \rightarrow a_1 + a_2 = 11$$

$$a_1 + a_2 = 11 \rightarrow a_1 + a_2 = 11 \rightarrow a_1 + a_2 = 11$$

$$a_1 + a_2 = 11 \rightarrow a_1 + a_2 = 11 \rightarrow a_1 + a_2 = 11$$

$$a_1 + a_2 = 11 \rightarrow a_1 + a_2 = 11 \rightarrow a_1 + a_2 = 11$$

$$a_1 + a_2 = 11 \rightarrow a_1 + a_2 = 11 \rightarrow a_1 + a_2 = 11$$

$$a_1 + a_2 = 11 \rightarrow a_1 + a_2 = 11 \rightarrow a_1 + a_2 = 11$$

$$a_1 + a_2 = 11 \rightarrow a_1 + a_2 = 11 \rightarrow a_1 + a_2 = 11$$

$$a_1 + a_2 = 11 \rightarrow a_1 + a_2 = 11 \rightarrow a_1 + a_2 = 11$$

Arman

سوال اول (2) $a_n = \frac{1}{n} \rightarrow a_{n+1} = \frac{1}{n+1}$ $a_n = \frac{1}{n} \rightarrow a_{n+1} = \frac{1}{n+1}$

$a_n = \frac{1}{n} \rightarrow a_{n+1} = \frac{1}{n+1}$ $a_n = \frac{1}{n} \rightarrow a_{n+1} = \frac{1}{n+1}$

$a_n = \frac{1}{n} \rightarrow a_{n+1} = \frac{1}{n+1}$ $a_n = \frac{1}{n} \rightarrow a_{n+1} = \frac{1}{n+1}$

$a_n = \frac{1}{n} \rightarrow a_{n+1} = \frac{1}{n+1}$ $a_n = \frac{1}{n} \rightarrow a_{n+1} = \frac{1}{n+1}$

$a_n = \frac{1}{n} \rightarrow a_{n+1} = \frac{1}{n+1}$ $a_n = \frac{1}{n} \rightarrow a_{n+1} = \frac{1}{n+1}$

$a_n = \frac{1}{n} \rightarrow a_{n+1} = \frac{1}{n+1}$ $a_n = \frac{1}{n} \rightarrow a_{n+1} = \frac{1}{n+1}$

$a_n = \frac{1}{n} \rightarrow a_{n+1} = \frac{1}{n+1}$ $a_n = \frac{1}{n} \rightarrow a_{n+1} = \frac{1}{n+1}$

$a_n = \frac{1}{n} \rightarrow a_{n+1} = \frac{1}{n+1}$ $a_n = \frac{1}{n} \rightarrow a_{n+1} = \frac{1}{n+1}$

$a_n = \frac{1}{n} \rightarrow a_{n+1} = \frac{1}{n+1}$ $a_n = \frac{1}{n} \rightarrow a_{n+1} = \frac{1}{n+1}$

$a_n = \frac{1}{n} \rightarrow a_{n+1} = \frac{1}{n+1}$ $a_n = \frac{1}{n} \rightarrow a_{n+1} = \frac{1}{n+1}$

$a_n = \frac{1}{n} \rightarrow a_{n+1} = \frac{1}{n+1}$ $a_n = \frac{1}{n} \rightarrow a_{n+1} = \frac{1}{n+1}$

$a_n = \frac{1}{n} \rightarrow a_{n+1} = \frac{1}{n+1}$ $a_n = \frac{1}{n} \rightarrow a_{n+1} = \frac{1}{n+1}$

$a_n = \frac{1}{n} \rightarrow a_{n+1} = \frac{1}{n+1}$ $a_n = \frac{1}{n} \rightarrow a_{n+1} = \frac{1}{n+1}$

$a_n = \frac{1}{n} \rightarrow a_{n+1} = \frac{1}{n+1}$ $a_n = \frac{1}{n} \rightarrow a_{n+1} = \frac{1}{n+1}$